Vert-X 37 -5V /10 ... 90% Ub / Redundant

3762736225602

BREE

HULRR
R RE
B3R
HEBE
AHES
WS

D % 10 mm FF &%k ; IP68 & IP69K
MH-C

360° BAE

5VDC

10% = 90% K TIEERE

TR, RXESHL

o

* BHTHEWATRABRERIT

o TiEANESE

» A%

c NEBES

s AERELHETRA (BE. B
[ RE, wEHE)

s HETEENBRAETERES

B ER
BYHKE

EFBL , 6 )
1.0m (B4%)

BRHIE

NEEE

ML ME (HBE )

BRI

DPR

RAAESH

KR RREER

RHRSHEERX

REAZBIER PRORE R

ARG BIERBRER
WHESHRAREREK
TR ERE (MTTFd) / FE#E R R (MTBF)
Hesk

ZEH R (HEE ) REESX
ZHERRE (HBLEE ) BEESX
B RIB AR
BHBNBRAR
BRR M R R
BREKEET

BREETR

HUH E 4R

HHSEE

Fhir S5

ENERHF ERTHRAE 3 HIE
RAKE

REFw

RA AV HE AR
RAAFEREHAR
TEMEHBE

EN 60068-2-6 , #&3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , i

L5:3
EN 55011 , &4% (Cl. B)
EN 61000-4-2, BeAkel ( HEMAB/ e )

EN 61000-4-3 , S3E5Y#R4f (80-1000 MHz / 1.4-2.7
GHz)

EN 61000-4-4 , R&RK+ ( FIEL )
EN 61000-4-5 , JEJE ( &t )

CONIELEC

A company of the Siedle-Group

o

NEEENED L

ppm/K

VvDC
mA
mA
kOhm
nF

mm?

ig Z
#3535

S Z Z B

kv
V/im

kv
kv

BRANEHEE

MH-C 5t
o ZMEN £0.3%

o 124 DR

0...360 o MEIET MH-C2

0.3
0.1

12

0.1

(5)

1.66
(800)
4600

50
668/668
5 (£10 %)
(14)

9

10

100

=]
=

0.56 (AWG20)
E e, 6 |, Rk

360 (=L )
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

-40 ... +125
20

50

RELAREEMN

4 TE SR BANF | ]RAS : 2021-11-23



Vert-X 37 -5V /10 ... 90% Ub / Redundant

3762736225602

EN 61000-4-6 , S 4tk S B4t (0.15-80 MHz) Vemf 10
EN 61000-4-8 , ®if37 BB & (50 Hz) Alm 300
#8458 H (500 VDC , 1 bar, 2s) GOhm 20
e85 (VAC , 50 Hz , 1 min , 1 bar) kv 1
b2
B SR it
BEXNFBE
BEN B4
O x% E y% QWITESRE (2% E 98% W IEREMEEMN )
POEIR R TR RER
FRIMEETTL (BZ21)
HBHRBAERE 30° E 360° ZIA (B AT)
(70) @ 36,5 -5, 1
15 37,6 310 ne
13 e | ‘Q 3 H7 x11
w
v —li 1 —
A
|| 1,6
1,6 3x M3xb
@ 2b 0,05 [
% 33,325 3,015
1

CONIELEC

A company of the Siedle-Group

B (=)

* 3INEER
o 2 ANFFFEEAELIR4ET M3 x 8

RELAREEMN
A ESHRBRA | RE : 2021-11-23


http://www.tcpdf.org

Vert-X 37 -5V /10 ... 90% Ub / Single

o

* BHTHEWATRABRERIT

o TiEANESE

» A%

c NEBES

s AERELHETRA (BE. B
[ RE, wEHE)

s AR FEENBRAETERES

3762736221402

BoREURE

HLAR D # 10 mm FF4&%4 ; IP68 & IP69K
1R RE MH-C

BAE 360° BAE

e B E 5VDC

wWHES 10% E 90% K THEBE
A B ERE (IR )
SR BB , 348

BYKE 1.0m ( B4%)

BSHIE

N ESEE °

M LMEE (BEE) METEMNED L
B KR °
YR iz
BAAESH °
EEERPUEER kHz
REERBHEEN kHz
REAEBLERPEER s
REABEREEER s
AHESHERNRERK ppm/K
T T BRI ERE (MTTF) / FEHEERE (MTBF)

e sk vDC
ZER R (A ) REER mA
R R (HEE ) EEER mA
S/ ERIB R kOhm
WS/ EERR nF
BRAR M R IFR T

BRERE

BREGREE mm?
AREFETR

W EE

HASEE °
Fhir SR

EAEFERTHR AR HRE Ncm
BRER rpm
BRESFD bt
BAAVHEMAR N
BAAFEREMAR N
THEMFEEE °C
EN 60068-2-6 , #&3 (Amax = 0.75 mm , f = 5-2000 Hz) g
EN 60068-2-27 , i g
7Y

EN 55011 , %5t (CI. B)

EN 61000-4-2 , B e AR ( $EARIKER/ZE SRR ) kv
EN 61000-4-3 , & 47ia 51 BB 4T (80-1000 MHz / 1.4-2.7 Vim
GHz)

EN 61000-4-4 , RERK+ ( FTEL ) kv

CONIELEC

A company of the Siedle-Group

PRABE

MH-C %1%

o KMER +0.3%
o 1211 X
0...360 . THELEELTR
+0.3 * MIEIETF MH-C2
0.1

12
0.1

(5)

1.66
(800)
4600

50
668/668
5 (£10 %)
(14)

9

10

100

=]
=

BEFEL | 31K, Bk
0.56 (AWG20)

=]
=

360 (ELE)
IP54 / 1P68
05/6
3000

360 Mio.
250

100

40 ... +125
20

50

4/ £8
30

RELAREEMN

4 TE SR BANF | ]RAS : 2021-11-23



Vert-X 37 -5V /10 ... 90% Ub / Single

3762736221402

EN 61000-4-5 , 3B ( %&7tits ) kv +1
EN 61000-4-6 , %374 S B4 (0.15-80 MHz) Vemf 10
EN 61000-4-8 , R4 884t (50 Hz) A/m 300
445 A (500 VDC , 1bar , 2's) GOhm 20
AN E3REE (VAC , 50 Hz , 1 min , 1 bar) kv 1
IR
B E gt
BE M=o
HEX B
BOXx% Ey% WI/EBE (£2% Z 98% W IFEEENTEAN )
PIRE R T B SRR
FRUBETTL (HZFZ24)
RSEREBAETE 30° E 360° 28 ()
0
(70 iy PEBO01 oy
15 37,6
13
(@]
v—|it | — El
A
I 3
- A1 / 6 (@) | |
1,6 3x M3xB
L B —
@ 26 0,05
0
@ 33,325 -0,015
|

CONIELEC

A company of the Siedle-Group

BH (=)

* 3INEER
o 2 NFFHEEEKIRET M3 x 8

RELAREEMN

Y EERRF | RFS : 2021-11-23


http://www.tcpdf.org

Vert-X 37 - 5V / PWM / Redundant

o

* BHTHEWATRABRERIT

o TiEANESE

» A%

c NEBES

s AERELHETRA (BE. B
[ RE, wEHE)

s HETEENBRAETERES

3762736245602

BoREUE

HLAR D # 10 mm FF4&%4 ; IP68 & IP69K
1R RE MH-C

BAE 360° BAE

e B E 5VDC

wWHES PWM

WA TR, RXESHE

SR BB, 6%

BYKE 1.0m ( B4%)

BSHIE

N ESEE °

M LMEE (BEE) METEMNED L
B KR °
YR iz
BAAESH °
EEERPUEER kHz
REERBHEEN kHz
REAEBLERPEER s
REABEREEER s
AHESHERNRERK ppm/K
T T BRI ERE (MTTF) / FEHEERE (MTBF)

e sk vDC
ZER R (A ) REER mA
R R (HEE ) EEER mA
S/ ERIB R kOhm
WS/ EERR nF
B E @S (PWM) $R Hz
IR R R

BREGREE mm?
BSEETR

W EE

HASEE °
Fhir SR

EAEFERTHR AR HRE Ncm
BRER rpm
BRESFD bt
BAAVHEMAR N
BAAFEREMAR N
THEMFEEE °C
EN 60068-2-6 , #&3 (Amax = 0.75 mm , f = 5-2000 Hz) g
EN 60068-2-27 , i g
7Y

EN 55011 , %5t (CI. B)

EN 61000-4-2 , B e AR ( $EARIKER/ZE SRR ) kv
EN 61000-4-3 , & 47ia 51 BB 4T (80-1000 MHz / 1.4-2.7 Vim
GHz)

EN 61000-4-4 , RERK+ ( FTEL ) kv

CONIELEC

A company of the Siedle-Group

BRANEHEE

0...360
0.3

0.1

12

0.1

(5)

1.66

(800)

4600

25
668/668

5 (£10 %)
(14)

9

10

1

855 (+20%)

=]
=

0.56 (AWG20)
B4, 6 1% , Rk

360 (ELE)
IP54 / 1P68
05/6
3000

360 Mio.
250

100

40 ... +125
20

50

4/ £8
30

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 - 5V / PWM / Redundant

3762736245602

EN 61000-4-5 , JEJ@ ( &Xiith ) kV +1
EN 61000-4-6 , & it S B 4T (0.15-80 MHz) Vemf 10
EN 61000-4-8 , %17 BB 5 (50 Hz) A/m 300
448 (500 VDC , 1 bar , 2s) GOhm 20
fME3REE (VAC , 50 Hz , 1 min , 1 bar) kv 1
I
B iR
B A
SV DET
R TR
FRINEE TTL (BZ 24 )
BHREAELE 30° F 360° 20 ( B )
(70) @ 36,5 -5, 1
15 37,6 310 ne
13 e | ‘Q 3 H7 x11
w
v —li 1 —
I
|| 1,6
1,8 Ix M3x6

@ 26 0,05 [

% 33,325 3,015

CONIELEC

A company of the Siedle-Group

B (=)

* 3INEER
o 2 ANFFFEEAELIR4ET M3 x 8

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 - 5V / PWM / Single

3762736241402

BoREUE

AR D % 10 mm Fr#&% ; 1P68 & IP69K
HRERRE MH-C

HAE 360° EBAE

e 5VDC

RHES PWM

WA BN ERE (JRETE )
BSERE Ef 4 , 3 1R

EAKE 1.0m ( B4%)

BSHIE

N ESEE °
MM (BRE ) NETENE DL
BRHEH °
YR iz
BRATWESMH °
FAERREER kHz
REERBREN kHz
REEBERRERR s
RELBERBEER us
MEESHREXRERE ppm/K
Tk EER A (MTTF) / FE8EEE R (MTBF)

BB E vDC
ZEHERRFE (HAEE ) REER mA
EHERRME (BBE ) BREX mA
R BRIB AR kOhm
WESNBEEAR nF
BRHRTTEE @S] (PWM) SR Hz
RN M R SRR

BASERE

BREKEEBE mm?
AREFETLR

W EE

WSS E °
Bt &R

EAEH P ERTHRABFHRE Ncm
BRERE rpm
BiESw g2
BAATHEHAR N
BARAFEB AT N
THEMEERE °C

EN 60068-2-6 , #&3 (Amax = 0.75 mm , f = 5-2000 Hz) g

EN 60068-2-27 ,

CONIELEC

A company of the Siedle-Group

o

* BHTHEWATRABRERIT

o TiEANESE

» A%

c NEBES

s AERELHETRA (BE. B
[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

0...360
0.3

0.1

12

0.1

(5)

1.66

(800)

4600

25
668/668

5 (£10 %)
(14)

9

10

1

855 (+20%)

=]
=

BEfeedr | 3R, Bk
0.56 (AWG20)

=]
=

360 (&4 )
IP54 / 1P68
05/6

3000

360 Mio.
250

100

-40 ... +125
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 - 5V / PWM / Single
3762736241402

Lo
EN 55011, &5% (CI. B)

EN 61000-4-2 , $#EL AR ( HEARMER/ZESIRE ) kv +4 [ +8
EN 61000-4-3 , = ¥M4E 51 F&T (80-1000 MHz / 1.4-2.7 Vim 30
GHz)
EN 61000-4-4 , ZR &Rk ( i ) kV +1
EN 61000-4-5 , SR ( &1t ) kv +1
EN 61000-4-6 , &¥i% S 84T (0.15-80 MHz) Vemf 10
EN 61000-4-8 , #1% B4 (50 Hz) Alm 300
#54%e8FH (500 VDC , 1 bar, 2's) GOhm 20
a8 (VAC , 50 Hz , 1 min , 1 bar) kV 1
pri2l]
B E iR T
BE NS
BE B
PORE R TR KR
FFRIHBETTL (ZZ 24 )
BB AERE 30° E 360° ZIA ( H )
(70) @ 36,5 -5, 1
15 37,6 @10 ne
e @ 3 H7 x11
T H N
(@]
v—lHit L —
A
H H J
|| 1,8
1,6 3x M3xb

@ 26 0,05 |

% 33, 325 -0,015

CONIELEC

A company of the Siedle-Group

B (=)

* 3MEER
* 2ANJTHEEEKIRET M3 % 8

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 - 5V / SPI1 / Single
3762736281602

BREE

HUAAR
tREERE
BAE 360° BAE

e B E 5VDC

wWHES SPI

WA B ERE (IR )
BASERE BB , 6 4%
BYKE 1.0m (EB4)

MH-C

BRHIE

NEEE

ML ME (HBE )

BRI

DPR

RAAESH

KR RREER

RHRSHEERX

REAZBIER PRORE R

ARG BIERBRER
WHESHRAREREK
TR ERE (MTTFd) / FE#E R R (MTBF)
Hesk

ZEH R (HEE ) REESX
ZHERRE (HBLEE ) BEESX
B AR M R AR

BRER

BRESREE

MU £

HASEE

ik 2

EREMTFERTHRAEHRE

BRERE

REFW

BAATHEHAR

BRAFEE A

THEMEERE

EN 60068-2-6 , #&31 (Amax = 0.75 mm , f = 5-2000 Hz)
EN 60068-2-27 , M

Lo
EN 55011 , 4% (CI. B)
EN 610004-2 , B e ( iRMM /2 SHE )

EN 61000-4-3 , = 5i%a 51 F & (80-1000 MHz / 1.4-2.7
GHz)

EN 61000-4-4 , RERKH ( FIEL )

EN 61000-4-5 , 3/ ( &3I4t )

EN 61000-4-6 , & #5155 B4t (0.15-80 MHz)
EN 61000-4-8 , Hi3% /851 (50 Hz)

CONIELEC

A company of the Siedle-Group

D % 10 mm Fr#&% ; IP68 & IP69K

o

NEEENED L

ppm/K

VvDC
mA
mA

mm?

Ncm
rpm
prt=4

kV
Vim

kv
kV
Vemf

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

0...360
0.3

0.1

14

0.1

2.2

(0.55)
400

(600)

25
668/668
5 (£10 %)
14

(9)

=
=

B4, 6 1R , Bk
0.56 (AWG20)

360 (¥E4L)
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

-40 ... +125
20

50

4/ £8

H+ I+
- o

-
o

300

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 - 5V / SPI1 / Single e |
3762736281602 L

#54%eFH (500 VDC , 1bar, 2s) GOhm 20
B8R (VAC , 50 Hz , 1 min , 1 bar) kV 1

i
B E SRR
BEXANRHE
BE N 8
RN T YRR
FXRIIEE TTL (JZZ 2 1)
RHREBEAET 30° E 360° [\ ((HIAT)

B ()
0 e 3NEER
70) - _Mq . > ATFREAAIRET M3 x 8
15 37,6
13
- N
w
Ty
ll_ ot r _}
s ) N
- :1’6 ; | |
1,6 _>| 3x M3x6
@ 26 0,05
% 33, 325 -5, 015
|

CON | ELEC REBATER

A company of the Siedle-Group 4 IF £ IR A AR | RZ 1 2021-11-24


http://www.tcpdf.org

Vert-X 37 -8 ... 35V / 0.5 - 4.5V /| Redundant

3762736125602

BREE

HUAAR
1R RE MH-C

BAE 360° BAE

e B E 24 VDC

wWHES 0.5VDC E 4.5 VDC
W TR, RXESHE
BASERE BB , 6 4%
BYKE 1.0m (EB4)

BRHIE

NEEE

ML ME (HBE )

BRI

DPR

RAAESH

KR RREER

RHRSHEERX

REAZBIER PRORE R

ARG BIERBRER
WHESHRAREREK
TR ERE (MTTFd) / FE#E R R (MTBF)
Hesk

ZEH R (HEE ) REESX
ZHERRE (HBLEE ) BEESX
B RIB AR
BHBNBRAR
BRR M R R
BREKEET

BREETR

HUH E 4R

HHSEE

Fhir S5

ENERHF ERTHRAE 3 HIE
RAKE

REFw

RA AV HE AR
RAAFEREHAR
TEMEHBE

EN 60068-2-6 , #&3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , i

L5:3
EN 55011 , &4% (Cl. B)
EN 61000-4-2, BeAkel ( HEMAB/ e )

EN 61000-4-3 , S3E5Y#R4f (80-1000 MHz / 1.4-2.7
GHz)

EN 61000-4-4 , R&RK+ ( FIEL )
EN 61000-4-5 , JEJE ( &t )

CONIELEC

A company of the Siedle-Group

D % 10 mm Fr#&% ; IP68 & IP69K

o

NEEENED L

ppm/K

VvDC
mA
mA
kOhm
nF

mm?

ig Z
#3535

S Z Z B

«Q

kv
V/im

kv
kv

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

MH-C 5t
o ZMEN £0.3%

o 124 DR

0...360 o MEIET MH-C2

0.3
0.1

12

0.1

(5)
1.66
(800)
4600
100
240/240
8..35
(19)
14

10

100

=]
=

0.56 (AWG20)
E e, 6 |, Rk

360 (=L )
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

-40 ... +85
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -8 ... 35V / 0.5 - 4.5V /| Redundant

3762736125602

EN 61000-4-6 , &¥if% S #4F (0.15-80 MHz)
EN 61000-4-8 , 7 BB5T (50 Hz)

#8458 H (500 VDC , 1 bar, 2s)

e85 (VAC , 50 Hz , 1 min , 1 bar)

IR
B E SUHig it
ERBE RS
B g
PR N TR REEE
FFXIDRE TTL (R’Z 2 14)
BB AERE 30° E 360° Z[A ( HAT)

Vemf

GOhm
kV

10
300
20

70

15 37,6

13

1,6

B (=)

e 3INEER
o 2 ANFFFEEAELIZ4ET M3 x 8

1,6

1

@ 2B 0,05 |

% 33, 325 -0,015

CONIELEC

A company of the Siedle-Group

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 - 8

... 35V /0.5 - 4.5V / Single

3762736121402

BoREURE

HLAR D # 10 mm FF4&%4 ; IP68 & IP69K
1R RE MH-C

BAE 360° BAE

e B E 24 VDC

wWHES 0.5VDC E 4.5VDC

A B ERE (IR )
SR BB , 348

BYKE 1.0m ( B4%)

BSHIE

N ESEE °
M LMEE (BEE) METEMNED L
B KR °
YR iz
BAAESH °
EEERPUEER kHz
REERBHEEN kHz
REAEBLERPEER s
REABEREEER s
AHESHERNRERK ppm/K
T T BRI ERE (MTTF) / FEHEERE (MTBF)

e sk vDC
ZER R (A ) REER mA
R R (HEE ) EEER mA
S/ ERIB R kOhm
WS/ EERR nF
BRAR M R IFR T

BRERE

BREGREE mm?
AREFETR

W EE

HASEE °
Fhir SR

EAEFERTHR AR HRE Ncm
BRER rpm
BRESFD bt
BAAVHEMAR N
BAAFEREMAR N
THEMFEEE °C
EN 60068-2-6 , #&3 (Amax = 0.75 mm , f = 5-2000 Hz) g
EN 60068-2-27 , i g
7Y

EN 55011 , %5t (CI. B)

EN 61000-4-2 , B e AR ( $EARIKER/ZE SRR ) kv
EN 61000-4-3 , & 47ia 51 BB 4T (80-1000 MHz / 1.4-2.7 Vim
GHz)

EN 61000-4-4 , RERK+ ( FTEL ) kv

CONIELEC

A company of the Siedle-Group

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

wHZE )

s HETEENBRAETERES

BRANEHEE

MH-C %1%

o KMER +0.3%
o 1211 X
0...360 . THELEELTR
+0.3 * MIEIETF MH-C2
0.1

12
0.1

(5)
1.66
(800)
4600
100
240/240
8..35
(19)
14

10

100

=]
=

BEFEL | 31K, Bk
0.56 (AWG20)

=]
=

360 (ELE)
IP54 / 1P68
05/6
3000

360 Mio.
250

100
-40 ... +85
20

50

4/ £8
30

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -8 ... 35V / 0.5 - 4.5V / Single

3762736121402

EN 61000-4-5 , JEJ@ ( &Xiith ) kV +1
EN 61000-4-6 , & it S B 4T (0.15-80 MHz) Vemf 10
EN 61000-4-8 , %17 BB 5 (50 Hz) A/m 300
448 (500 VDC , 1 bar , 2s) GOhm 20
fME3REE (VAC , 50 Hz , 1 min , 1 bar) kv 1
I
B iR
B A
SV DET
R TR
FRINEE TTL (BZ 24 )
BHREAELE 30° F 360° 20 ( B )
(70) @ 36,5 -5, 1
15 37,6 310 ne
13 e | ‘Q 3 H7 x11
w
v —li 1 —
I
|| 1,6
1,8 Ix M3x6

@ 26 0,05 [

% 33,325 3,015

CONIELEC

A company of the Siedle-Group

B (=)

* 3INEER
o 2 ANFFFEEAELIR4ET M3 x 8

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -8 ... 35V / 0.5 - 4.5V / Single

3762836121402

BRAREE

HLAR D # 10 mm FF4&%4 ; IP68 & IP69K
HRERRE MH-C2

BAE 360° EBAE

sk 24 VDC

BHES 0.5VDC E 4.5VDC

A BA, EBE (R4 )

SR BB , 348

BYRKE 1.0m ( B4%)

*IFPRBREARE TR (&RAN 127) . LEMRE.

BRHIE

NEEE

T LME (HABE)

BRI

SHR

RAFESH

RHRPORER

REREEER

REALBIER PRORE R
REEBIRBRER
AHESHRABERK

FH TR B ERE (MTTFd) / FE#EE R (MTBF)
Hesk
ZEHERAE (HEE ) REESX
EHERRIE (HBEE ) BEESX
B RIB AR
BHBNBRAR
BRAR M R R

BAER

BREMEEE

AREFETR

HU IR

YR

D7

ENERHF ERTHRARHIE
BRAHIE

VS

RA AV A AR
RAAFREHAR
THENE#HEE

EN 60068-2-6 , #&k3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 ,

CONIELEC

A company of the Siedle-Group

o

NEEEMNED

o

iz
kHz
kHz
Us

Hs
ppm/K

VvDC
mA
mA
kOhm
nF

Ncm
rpm

bt

°C
9

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

MH-C #5i%

o BAMEN £0.1%
* 14 {1 DR

* REIR., ERFAMAEATHE
FIREMERE ( ik )

0...360
+0.1

0.1

14

0.1

(2)

0.5
(800)
2500
100
209/209
8..35
(20)
15

10

100

=
=

BB, 3|, Rk
0.56 (AWG20)
&

360 (ELE)
IP54 / 1P68
05/6

3000

360 Mio.
250

100

-40 ... +85
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -8 ... 35V / 0.5 - 4.5V / Single

3762836121402

Lo
EN 55011, &5% (CI. B)

EN 61000-4-2 , BB AR ( BEARARER/ZE SR ) kv +4 [ +8
EN 61000-4-3 , = ¥M4E 51 F&T (80-1000 MHz / 1.4-2.7 Vim 30
GHz)
EN 61000-4-4 , RERKF ( FIEL ) kV +1
EN 61000-4-5 , SR ( &1t ) kv +1
EN 61000-4-6 , &3fit% $ B4 (0.15-80 MHz) Vemf 10
EN 61000-4-8 , #1% B4 (50 Hz) A/m 300
4458 (500 VDC , 1 bar , 2's) GOhm 20
a8 (VAC , 50 Hz , 1 min , 1 bar) kV 1
pri2l]
B g it
BE AT E
ERBEE
BRI R TR RAER
FFRIHBETTL (ZZ 24 )
BRI RE
IR A B 30° E 360° 2\ ((HITA)
BEETRE (KH)
RIS ARE (KM%Y )
HER A @ (RS AZR S ) A E/ATHRTE (M M&S R )
FE| R ARE/AIRE ( MK ERERM )
(70) % 38,5 0,1
15 37,6 @10 he
13 @ 317 x11
T H N
w
vy —uHit L —
A
H H J/
|| 1,6
1,6 3x M3xb

@ 2B 0,05 |

% 33, 325 -0, 015

CONIELEC

A company of the Siedle-Group

B (=)

* 3NMEER
o 2N FFFEEAELIZ4ET M3 x 8

REBAREEMN
4 TESERBAF | RAS : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -10.8 ... 35V / 0.1 - 10V / Redundant

3762736115602

BREE

HUAAR
1R RE MH-C

BAE 360° BAE

e B E 24 VDC

wWHES 0.1-10 V

W TR, RXESHE
BASERE BB , 6 4%
BYKE 1.0m (EB4)

BRHIE

NEEE

ML ME (HBE )

BRI

DPR

RAAESH

KR RREER

RHRSHEERX

REAZBIER PRORE R

ARG BIERBRER
WHESHRAREREK
TR ERE (MTTFd) / FE#E R R (MTBF)
Hesk

ZEH R (HEE ) REESX
ZHERRE (HBLEE ) BEESX
B RIB AR
BHBNBRAR
BRR M R R
BREKEET

BREETR

HUH E 4R

HHSEE

Fhir S5

ENERHF ERTHRAE 3 HIE
RAKE

REFw

RA AV HE AR
RAAFEREHAR
TEMEHBE

EN 60068-2-6 , #&3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , i

L5:3
EN 55011 , &4% (Cl. B)
EN 61000-4-2, BeAkel ( HEMAB/ e )

EN 61000-4-3 , S3E5Y#R4f (80-1000 MHz / 1.4-2.7
GHz)

EN 61000-4-4 , R&RK+ ( FIEL )
EN 61000-4-5 , JEJE ( &t )

CONIELEC

A company of the Siedle-Group

D % 10 mm Fr#&% ; IP68 & IP69K

o

NEEENED L

ppm/K

VvDC
mA
mA
kOhm
nF

mm?

ig Z
#3535

S Z Z B

«Q

kv
V/im

kv
kv

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

MH-C 5t
o ZMEN £0.3%

o 124 DR

0...360 o MEIET MH-C2

0.3
0.1

12

0.1

(5)

1.66
(800)
4600

100
185/185
10.8...35
(19)

14

10

100

=]
=

0.56 (AWG20)
E e, 6 |, Rk

360 (=L )
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

-40 ... +85
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -10.8 ... 35V / 0.1 - 10V / Redundant

3762736115602

EN 61000-4-6 , & 55i1% 5 BR&T (0.15-80 MHz)
EN 61000-4-8 , 7 BB5T (50 Hz)

#8458 H (500 VDC , 1 bar, 2s)

e85 (VAC , 50 Hz , 1 min , 1 bar)

IR
B E SUHig it
ERBE RS
B g
PR N TR REEE
FFXIDRE TTL (R’Z 2 14)
BB AERE 30° E 360° Z[A ( HAT)

Vemf

GOhm
kV

10
300
20

70

15 37,6

13

1,6

|

B (=)

* 3MEER
o 2 ANFFFEEAELIZ4ET M3 x 8

1,6

1,8

@ 2B 0,05 |

% 33, 325 -0,015

CONIELEC

A company of the Siedle-Group

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -10.8

3762736111402

BREE

HULRR
R RE
B3R
HEBE
AHES
WS
B ER
BYHKE

BRHIE

NEEE
ML ME (HBE )
BRI

DPR

RAAESH

KR RREER
RHRSHEERX
REAZBIER PRORE R
ARG BIERBRER
WHESHRAREREK

... 35V /0.1 -10V / Single

D % 10 mm Fr#&% ; IP68 & IP69K

MH-C

360° BAE

24 VDC

0.1-10 V

B ERE (IR )
Efedt | 3%

1.0m ( 8£4)

TR ERE (MTTFd) / FE#E R R (MTBF)

Hesk

ZEH R (HEE ) REESX
ZHERRE (HBLEE ) BEESX

B RIB AR
BHBNBRAR
BRR M R R
HAER
BR&YGBREER
AREFETLR

MU IR
YR
O]

ENERHF ERTHRAR S HIE

RAHIE

o VSE

RA AV A AR
RAAFEREHAR
TEMEFHEBE

EN 60068-2-6 , #&k3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , i

7Y
EN 55011 , &5t (CI. B)

EN 61000-4-2 , B e AR ( $EARIKER/ZE SRR )
EN 61000-4-3 , =578 51 5% (80-1000 MHz / 1.4-2.7

GHz)

EN 61000-4-4 , R&ERKH ( FiEL )

CONIELEC

A company of the Siedle-Group

o

NEEENED L

ppm/K

VvDC
mA
mA
kOhm
nF

Ncm
rpm

=

°C

«

kv
V/im

kv

0...360
0.3

0.1

12

0.1

(5)

1.66
(800)
4600

100
185/185
10.8...35
(19)

14

10

100

=]
=

BEFEL | 31K, Bk
0.56 (AWG20)

=]
=

360 (ELE)
IP54 / 1P68
05/6

3000

360 Mio.
250

100

-40 ... +85
20

50

4/ £8
30

o

* BHTHEWATRABRERIT
o TiEANESE

» A%

c NEBES

s AERELHETRA (BE. B
[ RE, wEHE)

s HETEENBRAETERES
BRANEHEE

MH-C #5i%

o SMERN £0.3%
o 12 {i HYPER

s ARETFERLTR
s MIBET MH-C2

REBAREEMN
4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -10.8 ... 35V / 0.1 - 10V / Single

3762736111402

EN 61000-4-5 , JEJ@ ( &Xiith ) kV +1
EN 61000-4-6 , & it S B 4T (0.15-80 MHz) Vemf 10
EN 61000-4-8 , %17 BB 5 (50 Hz) A/m 300
448 (500 VDC , 1 bar , 2s) GOhm 20
fME3REE (VAC , 50 Hz , 1 min , 1 bar) kv 1
I
B g it
R A
BN
PR T R
FFXRIIRETTL (T2 2 1)
BHREBAERE 30° F 360° 20 ( HIH)
(70) @ 36,5 -5, 1
15 37,6 @10 nhe
1 3 e | ‘Q 3 H7 x11
T H ~N
w
v —li 1 —
1
H H J
|| 1,6
1,8 Ix M3x6

@ 26 0,05 [

% 33,325 3,015

CONIELEC

A company of the Siedle-Group

B (=)

* 3INEER
o 2 ANFFFEEAELIR4ET M3 x 8

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -11 ... 35V /0.1 - 10V / Single

3762836111402

BRAREE

HLAR D # 10 mm FF4&%4 ; IP68 & IP69K
HRERRE MH-C2

BAE 360° EBAE

sk 24 VDC

BHES 0.1-10 V

A BA, EBE (R4 )

SR BB , 348

BYRKE 1.0m ( B4%)

*IFPRBREARE TR (&RAN 127) . LEMRE.

BRHIE

& E

MITLME (HBREE)

BRHH

DIE

BAUESM

REERREER

KA RAGER R
RELBERREER
REEBIERBERER
MEHESHERARERK
PHTEMBERE (MTTF) / THREER (MTBF)
fteg B E
TERERRE (HEE ) REER
THERRE (BEE ) BRER
SR IB AR
WHRDBEAR

B R AR M R SRR

SR

BREKHEBE

AREFETLR

MU IR

HHSEE

Fhir SR

ENEHF ERTHRABHRIE
RAHE

REF®

BRAR S VF R B SR
RAARFEREAHAR
THENEF#HEBE

EN 60068-2-6 , #&3h (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , Wi

CONIELEC

A company of the Siedle-Group

o

NEEEMED L

o

iz
kHz
kHz
Hs

Hs
ppm/K

VvDC
mA
mA
kOhm
nF

mm?

Ncm
rpm
=¥

°C
9

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

s, R, K% )

s HETEENBRAETERES

BRANEHEE

MH-C #5i%

o BAMEN £0.1%
* 14 {1 DR

* REIR., ERFAMAEATHE
FIREMERE ( ik )

0...360
+0.1

0.1

14

0.1

(2)

05
(800)
2500
100
1471147
11...35
(20)
15

10

100

=]
P

BEfeed | 3R , Bk
0.56 (AWG20)
&

360 (¥E4L)
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

40 ... +85
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -11 ... 35V /0.1 - 10V / Single

3762836111402

Lo
EN 55011, &5% (CI. B)

EN 61000-4-2 , BB AR ( BEARARER/ZE SR ) kv +4 [ +8
EN 61000-4-3 , = ¥M4E 51 F&T (80-1000 MHz / 1.4-2.7 Vim 30
GHz)
EN 61000-4-4 , RERKF ( FIEL ) kV +1
EN 61000-4-5 , SR ( &1t ) kv +1
EN 61000-4-6 , &3fit% $ B4 (0.15-80 MHz) Vemf 10
EN 61000-4-8 , #1% B4 (50 Hz) A/m 300
4458 (500 VDC , 1 bar , 2's) GOhm 20
a8 (VAC , 50 Hz , 1 min , 1 bar) kV 1
pri2l]
B g it
BE AT E
ERBEE
BRI R TR RAER
FFRIHBETTL (ZZ 24 )
BRI RE
IR A B 30° E 360° 2\ ((HITA)
BEETRE (KH)
RIS ARE (KM%Y )
HER A @ (RS AZR S ) A E/ATHRTE (M M&S R )
FE| R ARE/AIRE ( MK ERERM )
(70) % 38,5 0,1
15 37,6 @10 he
13 @ 317 x11
T H N
w
vy —uHit L —
A
H H J/
|| 1,6
1,6 3x M3xb

@ 2B 0,05 |

% 33, 325 -0, 015

CONIELEC

A company of the Siedle-Group

B (=)

* 3NMEER
o 2N FFFEEAELIZ4ET M3 x 8

REBAREEMN
4 TESERBAF | RAS : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -11 ... 35V / 4 - 20mA / Redundant

3762736155602

BREE

HUAAR
1R RE MH-C

BAE 360° BAE

e B E 24 VDC

WHES 4 mA £ 20 mA
W TR, RXESHE
BASERE BB , 6 4%
BYKE 1.0m (EB4)

BSHIE

N ESEE

IR (HRME )

B KR

7 PR

BATESM

EEERPUEER

REERBHEEN

REAEBLERPEER
RELBIDRIGEER
AHESHERNRERK

T T BRI ERE (MTTF) / FEHEERE (MTBF)
ek (5 HBRIBHE = 0-0.5 kOhm )
fteg Bk (RIS HAE = 0-0.25 kOhm )
ZHBTRFE (AHE ) REES

ZEH BT (HAHE ) BEER
WS/ EERR

B M R R

BREHKEEE

BAEETTR

HUH E 4R

HHSEE

Fhir S5

ENERHF ERTHRAE 3 HIE
RAKE

REFw

RA AV HE AR
RAAFEREHAR
TEMEHBE

EN 60068-2-6 , #&3) (Amax = 0.75 mm , f = 5-2000 Hz)

EN 60068-2-27 , i

L5:3
EN 55011 , &4% (Cl. B)
EN 61000-4-2, BeAkel ( HEMAB/ e )

EN 61000-4-3 , S3E5Y#R4f (80-1000 MHz / 1.4-2.7
GHz)

EN 61000-4-4 , R&RK+ ( FIEL )
EN 61000-4-5 , JEJE ( &t )

CONIELEC

A company of the Siedle-Group

D % 10 mm Fr#&% ; IP68 & IP69K

o

NEEENED L

ppm/K

VvDC
VvDC
mA
mA
nF

mm?

ig Z
#3535

S Z Z B

kv
V/im

kv
kv

o

* BHTHEWATRABRERIT

o TiEANESE
» A%
c NEBES

s AERELHETRA (BE. B

[ RE, wEHE)

s HETEENBRAETERES

BRANEHEE

MH-C 5t
o ZMEN £0.3%

o 124 DR

0...360 o MEIET MH-C2

0.3
0.1

12

0.1

(5)
1.66
(800)
4600
100
185/185
16..35
11..35
(19)
14

100

=]
=

0.56 (AWG20)
E e, 6 |, Rk

360 (=L )
IP54 / IP68
0.5/6

3000

360 Mio.
250

100

-40 ... +85
20

50

RELAREEMN

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -11 ... 35V / 4 - 20mA / Redundant

3762736155602

EN 61000-4-6 , & 55i1% 5 BR&T (0.15-80 MHz)
EN 61000-4-8 , 7 BB5T (50 Hz)

#8458 H (500 VDC , 1 bar, 2s)

e85 (VAC , 50 Hz , 1 min , 1 bar)

IR
B E SUHig it
ERBE RS
B g
PR N TR REEE
FFXIDRE TTL (R’Z 2 14)
BB AERE 30° E 360° Z[A ( HAT)

Vemf

GOhm
kV

10
300
20

70

15 37,6

13

1,6

|

B (=)

* 3MEER
o 2 ANFFFEEAELIZ4ET M3 x 8

1,6

1,8

@ 2B 0,05 |

% 33, 325 -0,015

CONIELEC

A company of the Siedle-Group

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

Vert-X 37 -11 ... 35V / 4 - 20mA / Single

3762736151402
AR EE i
HUAAR D % 10 mm FF &%k ; IP68 & IP69K . RS R RS it
fERERFE MH-C o TREMXNES
B3R 360° EARE s ERAFD
HEBE 24 VDC ‘WEF§EF .
HHES 4mA E 20 mA -gfﬁiﬁggg?(ME‘M
WA B EHE (IRETE) s ERARRENBRAETEELY
SR B4, 3 1 PR EREE
BYKE 1.0m (EB4)
MH-C 45t
BSHIE o BMEN £0.3%
N ESEE f 0...360 -gg;ggzx%
ML ME (BREE ) NETENE DL +0.3 o HIBIETF MH-C2
BROAHL® ° 0.1
Pag B iz 12
BRATWESMH ° 0.1
FAERREER kHz (5)
FRERERER kHz 1.66
REEBIERRIEHR s (800)
RELBERBEER s 4600
HHESHRRERK ppm/K 100
T T BRI ERE (MTTF) / FEHEERE (MTBF) 185/185
B BE (M HKRBAE = 0-0.5 kOhm ) vDC 16...35
B BE (f#AHRKBRE = 0-0.25 kOhm ) vDC 11...35
R R (HEE ) REER mA (19)
R R ((BEE ) BEER mA 14
WESNBEEAR nF 100
BRAR M R IFR T 3
BARER BB, 3|, Rk
BIRGYHER mm? 0.56 (AWG20)
AHEETR =
HLA B IR
HASEE ° 360 (EL)
B &R IP54 / IP68
EAEHTFERTHRABFHRIE Ncm 05/6
BAERE rpm 3000
BRESFD bt 360 Mio.
BARAVFHEH AR N 250
BAAFEREMAR N 100
THENEFERE °C -40 ... +85
EN 60068-2-6 , #&3h (Amax = 0.75 mm , f = 5-2000 Hz) g 20
EN 60068-2-27 , & g 50
7Y
EN 55011 , %5t (CI. B)
EN 61000-4-2 , B2 EB AR ( $EARARER/ZE SRR ) kv +4 /48
EN 61000-4-3 , /& 545 54 5T (80-1000 MHz / 1.4-2.7 V/m 30
GHz)
EN 61000-4-4 , RERK+ ( FTEL ) kV +1
CON | ELEC REERETEM

A company of the Siedle-Group

4 TESERBAF | RAS : 2021-11-24



Vert-X 37 -11 ... 35V / 4 - 20mA / Single

3762736151402

EN 61000-4-5 , JEJ@ ( &Xiith ) kV +1
EN 61000-4-6 , & it S B 4T (0.15-80 MHz) Vemf 10
EN 61000-4-8 , %17 BB 5 (50 Hz) A/m 300
448 (500 VDC , 1 bar , 2s) GOhm 20
fME3REE (VAC , 50 Hz , 1 min , 1 bar) kv 1
I
B iR
B A
SV DET
R TR
FRINEE TTL (BZ 24 )
BHREAELE 30° F 360° 20 ( B )
(70) @ 36,5 -5, 1
15 37,6 310 ne
13 e | ‘Q 3 H7 x11
w
v —li 1 —
I
|| 1,6
1,8 Ix M3x6

@ 26 0,05 [

% 33,325 3,015

CONIELEC

A company of the Siedle-Group

B (=)

* 3INEER
o 2 ANFFFEEAELIR4ET M3 x 8

RELAREEMN
A ESHRIRA | RE : 2021-11-24


http://www.tcpdf.org

